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In the following list identify these statements which are indicative of helping behaviour of
effective teaching. Select from the code to give your answer.

a) Instructional variety marked by multiple devices used.

b) Using the ideas of students while making presentations.

i

) Student’s success rate as evident in correctly understanding the assignments.

d) Engagement in learning tasks.

(e) Teacher affect as manifest in relations with students.

(f)  Probing to add and seek classifications of ideas.
Code :
Options:

91394335401 (b), (e) and (f)

(a), (b) and ()

91334533540%.

(d), (e) and (a)

2915334235403,

(b), (c) and (d)

H91334535404.

Question Number : 1 Question Id : 9139439009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(b), () 3R (f)

91334535401,

(a), (b) 3R ()

91334533540%.



(d), (e) 3R (a)

912334535403,

(b), (c) 3R (d)

91334535404,

Question Number : 2 Question Id : 9139439010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list given below identify these statements which relate to the characteristics of a
teaching act. Select from the code to indicate your answer.

(a) Teaching is a personal act to facilitate self development.

(b)  The goal of all teaching is to cause learning,.

(c) Teaching invariably implies changing the opinion of others.
(d) Teaching is triadic rather than dyadic in nature.

(e) Teaching means selling ideas.

(f)  Teaching means reaching the mind of students.

Code :

Options:

(a), (b) and ()

912334535405,

(), (d) and (e)

9133453354086,

(b), (d) and (f)

91334535407,

f), (e) and (d)

91334535408,
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Correct Marks: 2 WrongMarks: 0
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(), (b) ¥R (c)

91334535405,

(), (d) 3T (e)

9133453354086,

(b), (d) AR (f)

2912334535407,

(), (e) 3R (d)

H91334535408.

Question Number : 3 Question Id : 9139439011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
For promoting competence and excellence in and through education, which of the needs of
Maslow’s hierarchy has to be addressed ?

Options:

K ] T. T
1304335400 L €€d for love and belongingness

s g
91594335410, Need for self esteem

91394335411 Oafety needs

O — Need for self - actualization
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37cH 9 i 3TaYIFRdl
91394235410,

YT 1 AR

91334535411,
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91394335412, 1 Edl

Question Number : 4 Question Id : 9139439012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are hindering factors in effective teaching ? Select from the code to
give your answer.

a) Teacher’s self-efficacy.

b) Teacher’s subject knowledge.

c) Low ability and willingness level of teacher.

(d) Lack of planning and teaching skills in a teacher.
(e) Teachers’s mastery of linguistic skills.

fy  Inappropriate body language of the teacher.

Options:

o138a335415 (O (d) and (f)
91394335414, (@), () and (c)

(b), (c) and (d)

291594235415,

91394335416, (@), (c) and (f)
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Options:

(), (d) SR (f)

912334535413,

(), (e) 3T (c)

B912334535414.

(b), (c) #R (d)

91334535415,

(a), () 3R (f)

91334535416,

Question Number : 5 Question Id : 9139439013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the following characteristics of an evaluation procedure, identify those which describe
formative assessment. Select from the code to indicate your answer.

(a) Evaluation is a post instructional event.

(b)  Evaluation occurs during instruction.

(c) Evaluation is carried out by policy makers.

(d) Evaluation takes place periodically.

(e) The aim of evaluation is to improve the process of teaching.
(f)  Evaluation is based on participation of students and teacher.
Code :

Options:

(a), (b) and (c)

913345335417,

(b), (c) and (d)

2915334235415,



o1304335419, ) (€) ANl ()

(c), (d) and (f)

2912334535420,
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Options:

(a), (b) ¥R (c)

2915334235417,

51394335418, (0)s (€) 3R (d)

9153394235419,

91334535420,

Question Number : 6 Question Id : 9139439014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A researcher while writing his/her thesis does not give the rationale underlying use of
statistical techniques. This will be best described as a case of :

Options:

Ethical misconduct
91394335421,

91394335457 An error of omission

An error of commission
91394335423,



Technical lapse
91394335424,

Question Number : 6 Question Id : 9139439014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334535421
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91394335423, ST R gl 11-5‘ if&
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Question Number : 7 Question Id : 9139439015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which type of research, the steps of research have to be cyclic ?

Options:

Grounded theorv research
91394235455, »

Action research
91394335426,

VTYETT . Searc
12943535407 LXF erimental research

= Y . T ‘ =
a150435c40s  —as€ study research

Question Number : 7 Question Id : 9139439015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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91334535426,

IR IRE U]

91334535427,

M 3799 oMY

913345335428,

Question Number : 8 Question Id : 9139439016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A researcher plans to study the effect of socio-economic status of parents on the school
drop-out rate in a district. What type of research will it be ?

Options:

Hyvpothesis formulatine research
91394335429, + Y PC ' SPrT ‘

Experimental hypothesis testing research
91394335430, ’

Non Experimental hypothesis testing research
91394335431, ;

Ethnographic research
91394335432,

Question Number : 8 Question Id : 9139439016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

| URereq 1 &g 9y

91334535429
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91334535451

91334535432, 1 ‘Qﬁa
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Correct Marks: 2 Wrong Marks: 0



Below are given a few key terms. Identify these which denote qualitative research paradigm.
a) Ex post facto method

b) Ethnography

d) Descriptive survey

Narrative

(

(

(c) Symbolic interaction
(

(e)

(f)  Experimental method
Code :
Options:

(a), (b) and (c)

91334535433,

(d), (e) and (f)

91334535424,

(a), (b) and (f)

91334535435,

(b), (c) and (e)

91334535436,
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Correct Marks: 2 Wrong Marks: 0
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(), (b) ¥R ()

91334535433,

(d), (e) SR (f)

91334535434,
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(b), (c) 3 (e)

91334535436,

Question Number : 10 Question Id : 9139439018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which type of research, the action words - ‘Control, manipulate and observe” are most
relevant ?

Options:

o139433543- Liction research

1394335435 11istorical Research

xperi ; searc
51394335439, Experimental research

g - -.’ -.‘ Fooe -:I -] ,’.- ) -).- l. L-. . =
o Grounded thE(.r} apprc ach based research

Question Number : 10 Question Id : 9139439018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Read the passage carefully and answer the questions from 11 to 15.

Smart phones have grown in popularity over the last few years, and applications, or
content, rest at the heart of this growth. Content has become more important than hardware
and the quality of content is determined by creativity. Creativity emerges as seemingly
disparate areas, such as education, industry, and culture. As a result, convergence of virtually
all areas is receiving the spotlight today.

Convergence must also take place in the area of policy-making. Breaking down the
walls between education and science and technology (S & T) universities and businesses and
research and education, and convergence of these areas will bring about synergy and perhaps
yield unexpected creative results. When education and S & T merge, one plus one can result
in something greater than two. Convergence can take many forms : providing an education
that develops divergent thinking and encourages creativity in students at an early age;
developing human talents required by business by breaking down the barriers between
universities and businesses, and sharing the assets of government funded research institutes
with university students. These merges form the platforms for human creativity.

A nation can only become a world leader in S & T when its scientists are cultivated and
allowed to research to their heart’'s content.

Sub questions

Question Number : 11 Question Id : 9139439020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage use of the smart phones has grown because of developments in :
Options:

Technologies
a1594zasqq; | EChNOlOgIES

Researches
91394335442,

91394335443, Need for applications

91394335444 NNETESE Of people

Question Number : 12 Question Id : 9139439021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the view of the author of this passage, what determines the quality of content ?
Options:

s i g
91394335445 Irevmhng traditions

|.1 " Te 1 "’
01394335446,  11€AS of application

Creativity and convergence factors
91394335447, 3



I.‘ " L " B
91394335445,  \T€AS of concern

Question Number : 13 Question Id : 9139439022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Unique results will flow owing to :

Options:

Policy-making
91394335449, ’

Creative results of synergy
91394335450, / &

Removing the hindering factors between research and education
91394335451,

Svnerey
91394335450 &Y

Question Number : 14 Question Id : 9139439023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
On the basis of this passage, it can be stated that convergence is :
Options:

A linear process developing in a sequential fashion
91394335453,

A simple additive process to enhance power
91394335454,

An interactive process centred on various elements
91394335455,

A multifaceted interactive process
91394235456,

Question Number : 15 Question Id : 9139439024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Quality of research in a nation gets enhanced as a result of :
Options:

Dedicated spirit of the researchers
91394335457,

Hardwork of the researchers
91394335458,



Expert power of the researchers
91394335459,

I 1 ;7 - . a
91394335460, Variety in researches
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Cuesticon Label | Comprehension
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Correct Marks: 2 Wrong Marks: O
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Options:
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9153394235442,

YA hi 3AEeIhl
913943354435,

[MIERIE

91334535444,
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Correct Marks: 2 WrongMarks: 0
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91334535445

291533942354486

91334535447,
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Question Number : 13 Question Id : 9139439022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 16 Question Id : 9139439025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following sequence correctly depicts the linear communication model between
teacher and students.

Options:

Encode — Symbols — Message — Channel
91394335461, ’ :

Channel — Message — Symbols — Encode
91394335462, ;

Message — Channel — Symbols — Encode
91394335463, > /

Symbols — Message — Encode — Channel
91394335464, -

Question Number : 16 Question Id : 9139439025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Fe Hahdd — Hhd — Fa¥ — =7

91334555461

A — WSV — TR — FT HeheH

913345354672

G — T — Hefd — FZ HeH

215394235463

Hhd — o9 — F< Hehdd — =9

91334535464

Question Number : 17 Question Id : 9139439026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A university teacher makes a very effective expository presentation in his/ her class without
caring for its effect on the students. This is an example of a/an :

Options:

Linear Communication Model
913943235465,

Interactive Communication Model
91394335466,

Transactional Communication Model
91394335467,

] - s --T " 4 w " . ]
61594355468 Authoritarian Communication Model

Question Number : 17 Question Id : 9139439026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 18 Question Id : 9139439027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are given two sets. Set - I specifies the sensory modes while Set - 11 offer illustration
of speech communication to go with them. Match the two sets and indicate your answer by
selecting the appropriate code.

Set-1
(Sensory modes)
(a) Sight mode
(b) Hearing mode
(c) Touch mode
(d) Smell mode
(e) Taste mode
Code :
(@) (b) (o) (d)

Options:

91394335469, (tv) (v)

91334335470, (1) (ll‘.)
912334535471, (IJ'.) (1”‘)

2915394235472, (I_I'.) (I'.LI'.)

=
e

t =

=

Set- 11
(IHlustrative speech)
It leaves a bad taste in my mouth.
I can’t put my finger on the problem.
Something is fishy.
That looks good to me.

That sounds fine to me.

Question Number : 18 Question Id : 9139439027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394335471 £ (i) (iv) (v) ()
91394335472, i) @@ @ ) W)

Question Number : 19 Question Id : 9139439028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is a powerful indicator of mis-communication in a classroom
transaction ?

Options:

Volley of questions relevant to the subject.
91394335473, :

“Yawning' by most of the students.
91394335474, :

Purposely non-participative moves of students.
91394335475, ’

Volley of questions irrelevant to the subject.
91394335476 /

Question Number : 19 Question Id : 9139439028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freifeRa § 9 o weql fRaf-afa § F-HUW 1 U 99 S99 ¢ 7
Options:

 Tow < wfq i et 1

215394235473

| AT BEN a1 ' ST o

B1334535474

91334535475

T & wfd st 9o 1 el

2913394235476

Question Number : 20 Question Id : 9139439029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which model of communication ‘noises” are introduced as an important variable ?



Options:

Sy Linear Model of Communication

2 . '...'_.I L T ! " " '1" ki ."
P Participative Model of Communication

Transactional Model of Communication
91394335479,

|..|..1 1 " ‘I -T " 1C 1 "
91394335450, Assertive Model of Communication

Question Number : 20 Question Id : 9139439029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o =30 gfaam 8 ‘iR’ &6 Heequl =) % ®9 4 yafdd T sma g ?

Options:

_@wwwuﬁnﬁ

91384535477

91394335478 HYE0T hT YUl 9k Fida™

31394335479 Uy 1 ferarf-afd we giaam

YW1 HT AT HfH

91334535480

Question Number : 21 Question Id : 9139439030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aman travelled 300 km by train and 200 km by taxi, and he completed this journey in
5 hours and 30 minutes. However, if he travels 260 km by train and 240 km by taxi, it will
take 6 minutes more to complete the journey. The speed of the train is :

Options:

91394335481 100 km/hour

oL
o1594335432. 120 Km/hour

. )
91394335483, OV km/hour

91394335484 110 km/hour



Question Number : 21 Question Id : 9139439030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

399 F 300 =Y. it I o9 F AR 200 TR 1. =1 aen S 9 &1 3R 3@ 359d 5 "5e 30 fage #
I @ | Feed, Afe 98 260 fRH. T 9 3R 240 .01, TRt & 20 T © df 59 ann g
T 6 e &1 Ty TR &0 | 39 &1 Tfd © :

Options:

100 TR/ =

913345354651

120 TR |Hi/ 5

91334535452

- 80 foh. 1 /5

B91334535483

110 Toh. 1 /=
91594235454,

Question Number : 22 Question Id : 9139439031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The present age of the father is twice that of the elder son. Ten years hence the age of the
father will be three times that of the younger son. If the difference in ages of the two sons is
as 15 years, the present age of the father is :

Options:

91394335435, 110 Years

91334535456, 70 Foee

91394335487, 60 years

i e 1
91394335488, o0 years

Question Number : 22 Question Id : 9139439031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e o1 9 219 oS I 1 3T 1 ST € | 3T 9 29 9 =1 Ul i 3719 BT U 1 319 i a9
TAT BRI Afe ST E T 31 W 3R 15 a9 &1 a1 941 i adHH 3 §

Options:
110 =9

91334535485,



70 a9

B1334535486.

) dY
913345354587,
H912334535488. 20

Question Number : 23 Question Id : 9139439032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the sequence of numbers 2, 8, 24, 64, 160, x.........., the term x is :

Options:

320
91394335489,

| /
o ls
H91334535450. 84

192
291594235491, 192

224

9153394235452,

Question Number : 23 Question Id : 9139439032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A o &HH 2, 8, 24, 64, 160, x........ CHy T HIAA T :

Options:

320
91394335489,

91334535450,

913345354591,

224
91394335492

Question Number : 24 Question Id : 9139439033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a certain code, PLEADING is written as FMHCOMFB. How is SHOULDER written in
that code ?

Options:



91394335493, KCDQTIPV

91334535454, QD(‘K\EPJI

QDCKTIPV

2153942354585

91394335496, TIPVQDCK

Question Number : 24 Question Id : 9139439033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fordl Ffaua F2 § PLEADING &I FMHCQMFB fa@n s 21 38 e § SHOULDER &1 9
ot < ?
Options:

91394335493, KCDQTIPV

91334535454, QD(‘K\EPJI

QDCKTIPV

2153942354585

91394335496, TIPVQDCK

Question Number : 25 Question Id : 9139439034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In conveying the same meanings, which of the following is incongruous ?

Options:

U niLlue
91394335497,

Beautiful
91394335498,

Rare
91394335459,

Exceptional
91394335500,

Question Number : 25 Question Id : 9139439034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HOE 39 UfTd i § f=ifed § 9 $F 3T 22

91334535437,

Q1294235495 1
qAY

HAYdIcIcHS

913345354599,

91334535500,

Question Number : 26 Question Id : 9139439035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?

Scrub : wash : : Sob: ¢ I

Options:

Cry
91394335501, "

Water
91394335502,

91394335503 Sad

91394335504, [ease

Question Number : 26 Question Id : 9139439035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 9T T HEY % TTER, A 91 I Gieit WM WA & fau 39ge 2 ?
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Options:
91594235501,

912334535502,

91334535503,



91334535504,

Question Number : 27 Question Id : 9139439036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them (taking singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code

riven below.
Premises : i) All lawyers are extroverts.

ii) Some wisemen are extroverts.

All wisemen are lawyers.

(
(
Conclusions : (a) All lawyers are wisemen.
(b)
(c) Some extroverts are wisemen.
(

d) All extroverts are lawyers.
Code :
Options:

(a) only
91394335505, -

(b) and (c) only

91334535506,

91394335507, (ﬂ) E”-ld- (‘:) [Ti[‘l[}?

(c) only
91394335508, ;

Question Number : 27 Question Id : 9139439036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 1 3R a1 fou T € foy =R e et € (oTohel o1 U /1Y) | i o1 fhy 9@ § 2
= fou T e H 9 W@ I T |

MU Are : (i) 9t stfeEEa afedEl 2 € |

(i) FS IfEHE AT AEHE! BId ¢ |

R (a) | feraE giemm ¥ |
(by Tt Jfgam AfeEem €|
(
(

<) FS afeqdE EaA T
d) |t afedEt sifaaem 21

e

Options:

2915394235505,



91394335506,
91394335507, I (a) Sl (©)
91394335508, (c)

Question Number : 28 Question Id : 9139439037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is an example of a correct deductive argument ?

Options:
There are 24 CDs on the top shelf of my bookcase and 14 on the lower shelf. There are
no other CDs in my bookcase. Therefore, there are 38 CDs in my bookcase.
91394335509 ! ‘
No one got an“A’ grade on yesterday’s test. Jatin wasn’'t in school yesterday. Jatin will
Fi r
: o of teidaayr 'y 2 ;
—_ T make up the test today and get an "A” grade
All human beings are in favor of world peace. Terrorists don’t care about world peace.
Terrorists bring about destruction.
91394335511
You have to be 16 years old to geta driver’s license. Abhi will be 16 years old tomorrow.
Therefore, Abhi can now buy a car.
91394335512, J

Question Number : 28 Question Id : 9139439037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frifera § 9 &H U Wel A a8 o1 3Ee § 2

Options:
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91394335512,

Question Number : 29 Question Id : 9139439038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held by
Mr. Ajit, Mr. Bhavesh and Mr. Chirag, though not necessarily in that order. The following
statements are true for all the three :

(i)  The copilot is the only child and earns the least.
(ii) Chirag is married to Bhavesh’s sister and earns more than the pilot.
Who is the copilot ?

Options:

Ajit
91394235513,

Bhavesh
91394335514,

Chirag
91394335515,

Either Ajit or Chirag
91394335516

Question Number : 29 Question Id : 9139439038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91384535513,

EER]

912334535514,

91334535515,

1 d1 37erq a1 =
Q1294228518

Question Number : 30 Question Id : 9139439039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and
Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin, Gaurav and Mandeep
are good in Football and Baseball. Who is good in Hockey, Cricket and Volleyball ?



Options:
Sachin
91394335517,

Kunal
91394335518,

Ravi
91394335519,

Gaurav
91394335520,

Question Number : 30 Question Id : 9139439039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

LIk

2915334235517,

E S|

913345335518,

g
913942355149,
T

2912334535520

Sub-Section Number: 4
Sub-Section Id: 913943453
Question Shuffling Allowed : Yes

Question Id : 9139439040 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following two tables (I and II) that show the production (in Tonnes) of four
products P, Q, R and S during the years 2010-2015 and the selling price per Tonne
(in ¥ thousands) respectively. In accordance with the tables I and II, answer the questions
that follow (Questions 31 - 35) :
I : Production Yearwise (in Tonnes) II : Selling Price

(in ¥ thousands)

Product — P 0 R S Product Price Per
Year | Tonne

2010 45 99 i 115 P T9
2011 25 41 93 158 Q T4
2012 40 108 107 166 R T13
2013 38 60 63 139 S z3
2014 76 41 132 88

2015 56 70 120 97

Where,

Stability of production of a given product during 2010-2015

Average Production

Maximum Production — Minimum Production

and Revenue (in ¥ thousands) from selling a product

= Production of a Product x Selling Price

Sub questions

Question Number : 31 Question Id : 9139439041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
[In which year, the annual growth rate of production (of all the products together) is
highest ?

Options:
2011
91294335521,

2012
91394335522,

2014
91394335523

2015

21594235524,

Question Number : 32 Question Id : 9139439042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the stability of the production of P during 2010 - 2015 ?

Options:

0.92
91394335525,

1.04
91394335526,

1.43
91394335527,

1.63
91394335528

Question Number : 33 Question Id : 9139439043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year, the total revenue of all the four products is lowest ?

Options:

2011
91394335529

2012
91394335530.

2013
91394335531

2010
91394335532,

Question Number : 34 Question Id : 9139439044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the products P, Q, R and S fetches the lowest revenue ?
Options:

)
91334535533, I

Q

91334535534,

R

291594235555,

91334535536,



Question Number : 35 Question Id : 9139439045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is true ?

Options:

Product R fetches second highest revenue across products in the year 2011.
91394335537, £

—— Sum of revenue of P, Q and S is more than the revenue of R in the year 2014.

s Cumulative revenue of P and Q is more than the revenue of S in the year 2013.

TS EEER Sum of revenue of P, Q, and S is more than the revenue of R in the year 2012.

Question Id : 9139439040 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

fr=ifera <1 9RfoET (1 3R11) W faar & sh9r Sd@E) P, Q, R, S &1 94 2010-2015 & SR 316
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2010 45 99 75 115 P F9
2011 25 41 93 158 Q Z4
2012 40 108 107 166 R 713
2013 38 60 63 139 S 73
2014 76 41 132 88
2015 56 70 120 97
e,
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Sub questions

Question Number : 31 Question Id : 9139439041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ToFg o9 | IcdreA (94T 3T 1 Ueh |1¥) i a1t gl o Soaad §

Options:

2011
91394335521,

2012
91394335522

2014
91394335523

2015
91394335524

Question Number : 32 Question Id : 9139439042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 2010 - 2015 F SRF P F IS i FErd 1 2

Options:

0.92
91394335525,

1.04
91394335526,

1.43
91394335527

1.6
91394335528,

Question Number : 33 Question Id : 9139439043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[l =R e | 9T FA A R 9u § Fam 22
Options:

2011
91394335529

2012
91394335530,

2013
91394335531



2010
91394335532,

Question Number : 34 Question Id : 9139439044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

P,Q, R 3RS U § fFy 39€ ¥ 9rd ¥ =gy &2

Options:

IJ
91334535533,

Q

91334535534,

R

91334535535,

g

B1334535536.

Question Number : 35 Question Id : 9139439045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=1 8 | [ A1 FYT W © 2

Options:

a9 2011 H 9 SR § § I R § W A g8 ol SAE1 ¢ |

91334535537,

a4 2014 H P, Q 3RS 9 W &l A™ &1 A7 R H 9T 319 9 3I4F ¢ |

2912943535538,

a9 2013 H P 3RQ J W Fdd A S H W A9 H 37 2

91334535539,

9y 2012 H P, Q 3RS 9 W Fcd 39 R § 9Id 39 9 34 €|

91334535540,

Sub-Section Number: 5
Sub-Section 1d: 913943454
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139439046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A virus hoax is an untrue virus warning email. When you receive a virus hoax such as the
one below, what is the appropriate action ?

Subject : Warning!

A new Virus has been detected in your computer. Format your hard disk and re-install all
softwares immediately.

Options:

lgnore this email
91394335541,

Rep[v to the sender
91394335542, s

Or'Wi £ [ —_— - ;
T ard this email to your friends

Format vour hard disk and re-install all software immediately
91394335544, : .

Question Number : 36 Question Id : 9139439046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ptions: sy gﬁa # —

91334535541,

UYF I I <A1

91334535542,

379 T =1 98 O AUfd w7

91334535543,

deehTdd 3791 218 feter Wite oAl 3R 9t GRdaT ol T-3%2fd Al

91384535544,

Question Number : 37 Question Id : 9139439047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their meanings. Match the two and give your answer by selecting the appropriate

code.
Set -1 Set - 11
(Acronyms) (Meanings)
(a) DPI ()  Measures resolution of a laser printer
(b) CRT (i) An example of read-only storage
() NIC (i) A type of computer monitor
(d) CD-ROM (iv) Enables a computer to connect to other computers
Code :
Options:
91294335545 (I_I'.) (IV) (LLI'.) (l)
91294335546 (1) (IV) (I_LI'.) (I_I'.)
1 111 v 11
91294335547, () ( ) ( ) ( )
11 111 v 1
91594335545 ( ) ( ) ( ) ( )

Question Number : 37 Question Id : 9139439047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334535545, (IJ'.)

H133453554E, (1)

21594235547,

(1)



(i) (i) (iv) (1)

2915334235548,

Question Number : 38 Question Id : 9139439048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statement(s) regarding the term ICT is/are True ?

P - ICT is the abbreviation of Information and Collaboration Technology, meaning
technology related to information and collaboration, such as computers and the
Internet.
3 The gap between people with effective access to ICT and those with very limited
or no access at all, is termed as digital divide.
Options:
P only
91334535549, =
Q only
91394535550 i
P and Q
91394535551
Neither P nor Q
91384535552,

Question Number : 38 Question Id : 9139439048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334535549,

A% Q

91334535550,

A Q

91334535551,

TAPIRAETQ

91334535552,



Question Number : 39 Question Id : 9139439049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The computer software that runs a computer, including scheduling tasks, managing storage
and handling communication with peripherals is called :

Options:

Device Driver
91394535553,

Application Suite
91394335554,

Operating System
91394335555, ;

Bluetooth Technology
91394335556 :

Question Number : 39 Question Id : 9139439049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

H1384535553. Laltl \'§|5§‘3|"\

91334535554, ~ellensin {‘15(“

e faeen

9153394235555,

29 Urfirnt

H91334535556.

Question Number : 40 Question Id : 9139439050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The following list indicates different types of computer file formats. Which of them is devoted
exclusively to graphic file formats ?

Options:

GIF, JPEG, DOC

9153394235557,

1594335555, L NG, GIF, JPEG



JPEG, TIFF, HTML
91394335559,

TIFF, XLS, PNG

91334535560,
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Options:

S, . U, S1LULE. ST, <1379

91384535557,

ULTA S, ST ST U, LU S

91334535558,

SLUT.E. ST, 2137 UL UE,, U, 2L UH. U,

913345355545,

1.3 UF, U, UaH, UA. U9, 91U, 5.

91334535560,
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Correct Marks: 2 Wrong Marks: 0
Following are two sets of items. Set - I lists different types of wastes, while Set - II indicates
methods of their disposal. Match the two sets and give your answer from the code given
below :
Set -1 Set - 11

(Types of Waste) (Methods of Disposal)
(a) Dry waste (i) By composting
(b) Wet waste (i) By burying in landfills
(c) Toxic waste (iii) By dropping them in corporation bins
( (

d) Soiled waste iv) By recycling

Options:

© @@ ([ (1)

B912334535561.

91334535562, (IV) (l) (I_I'.) (I_LI'.)



(i) (D) (iv) (D)

B1334535563.

(i) (v) @ (1)

91334535564,
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Options:
91394335561, (1) (ll) (Iﬂ) (IV)

2153394235562, (IV) (l) (I_I'.) (I_LI'.)

(i) (D) (iv) (D)

H1334535563.

(i) (v) (@) (1)

91334535564,
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For ensuring sustainability in the quality ethos of the university environment which of the

following would be considered high priority skill for a vice-chancellor ?

Options:
Financial Manaeement Skill

91394335565, B e

a15043scses  dministrative Skill



Technical Management Skill
91394235567, >

Human Resource Management Skill
91394335568, ?
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REEIEIR ELERCIIG]
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Correct Marks: 2 Wrong Marks: 0

The purposes underlying the Renewable Energy Education programmes are :
Options:
1594555560 Educative and investigative

Diagnostic and evaluative
91394335570,

Corrective and predi::tive
9139433557 1.

Preventive and ameliorative
91394335572,
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2913394235570

9194335571, w a?r{ m
e iR gemres
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For an effective organisational climate within a university system, which of the following
measures will be most appropriate ?

Options:

Creating an equilibrium between driving forces and restraining forces.
91394335573,

Increasing the power of driving forces and decreasing the power of restraining forces.
91394335574, > >

s1394sassse DECTEASING the power of restraining forces without caring about the driving forces.

Increasing the power of driving forces without caring about the restraining forces.
91394335576
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Question Number : 45 Question Id : 9139439055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Below are given a number of roles and functions at the government/non-government level
indicating the specific responsibilities of the Ministry of Drinking Water and Sanitation. Identify
those statements which indicate the areas of responsibility of this ministry. Select from the
code to give your answer :

(a) Overall policy and planning in respect of programmes of drinking water and sanitation.
b) Funding in respect of the programmes listed in (a).

¢) Coordination of programmes floated.

d) Supply of food grains at reasonable price to the consumers.

e) Achieving the goal of zero hunger.

— — — e —

f)  Implementation of Swachh Bharat Abhiyan in rural India.
(g) Monitoring of prices and availability of essential commodities.
Code :

Options:

91394335577 (@), (b), (c), and (g)

(a), (b), (d) and (e)

91334535575,

(a), (b), (c) and (f)

91334535579,

(a), (c), (d) and (e)

91334535580,
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Options:

91394335577 (a), (b), (c) 3R (8)



(a), (b), (d) 3R (e)

B1334535578.

(), (b), (c) 3R (£)

91334535575,

0), (d) 3T (e)

91394335580. (H)’ (
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Which of the following statements are correct about Indira Gandhi National Open University
IGNOU) ? To indicate your answer, select from the code given below :

a) It 1s an autonomous organisation.

(b) Itis devoted to promotion of open and distance education system.
(c) It conducts assessment and accredits the State Open Universities.

d) It has jurisdiction in respect of Open and Distance learning system in India and to the
study centres outside India.

Code :

Options:

(a) and (b)

21594235581,

(b) and (d)

91334535582,

(c) and (d)

2153394235585,

(d) and (a)

913345355854,
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(a) 3T (b)

91334535581,

(b) 3R (d)

B1334535582.

(c) 3R (d)

B1334535583.

(d) 3R (a)

913345355854,

Question Number : 47 Question Id : 9139439057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The leadership and executive role in higher education system in respect of state universities
of India is assigned to :

Options:

-T 2 " 1 1 T 'L‘. T
S — Chancellor of the University

| | - . 3 is
-C T O sity
a1504zassge Y1ce-Chancellor of the University

s of Faculties
91394335587 Deans of Faculties

f Studies
o1394335585, DeaAN ¢ f Studies
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Options:

faafaemea & Fenfeafd

91334535585

 foafaamea % Ferdfd

91334535586
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91594335580,



Question Number : 48 Question Id : 9139439058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The formal authority for approving the University level courses vests in :
Options:

a1594335550 1 1€ Academic Council

The University Court
91394335590. s

The Executive Council
91394335591

The Research Degree Committee
91394335592,
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2912334535550

913345355591, :
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2913394235552
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For promoting human values through College/University programmes which one of the
following leadership styles would be the most appropriate ?

Options:

150433550z Directive Leadership Style

Participative Leadership Style
91394335594, ’

Consultative Leadership Style
91394335595, g



Delegating Leadership Style
91394335596 4
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Correct Marks: 2 Wrong Marks: O
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Correct Marks: 2 WrongMarks: 0

A post-graduate degree holder student with 55% marks intends to pursue research for the
award of Ph.D. degree. What will be the formal requirements in this regard ? To indicate
your correct answer choose from the code given below :

(a) Appearing in an admission test of a university
b) Attending a coaching institute
c) Consulting an expert teacher

d) Submitting an application for enrollment

(

(

(

(e) Submitting a proposal for the research

(f)  Discussing the research proposal with a peer group

(g) Getting the opinion of the experts on the research theme

(h) Getting the proposal approved by the relevant body of the university
(

i) Attending mandatory course work
Code :
Options:

01594335597 (a), (d), (e), (h) and (i)

c), (f) and (i)

913345355598, (b)’ (

91394335599, (9), (), (g) and (h)



(d), (f), (h) and (1)

291334535600,
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91394335597, (@), (d), (e), (h) 3R (1)
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who wrote the famous book ‘Nuclear Weapons and Foreign Policy” ?

Options:

Joseph Nye
91394235601,

Kenneth Boulding
91394335602,
91394335603, - arkabl

Henry Kissinger
91394235604, i g
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Options:
Hre® =18
91394335601
91394335602, b
ars. gt

215942356035,



ferfirart
91394335604, &

Question Number : 52 Question Id : 9139439062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
Who developed the ‘Mandal theory” in ancient India ?
Options:

91394335605, avana

91394335608, Llushma

Kautilya
91394335607,

91394335608, | ldura
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Options:

91334535605,

21594235606,

2915334235607,

fox

91334535608,
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Correct Marks: 2 Wrong Marks: O
The European Common Market was established in
Options:
1956
91394335609,

_
91394335610, 1007



.
91394335611, 1000

91334535617, 1960
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Options:

_
91394335609, 1000

91334535610,

2915394235611,

B91334555612. 1960
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Correct Marks: 2 WrongMarks: 0
The Brown Amendment was related to
Options:

Extending economic and military aid to Pakistan
H1334555613.

Extending economic aid to Iran
91394335614,

Extending humanitarian aid to Afghanistan
91334335615,

Extending monetary aid to Israel
91324535616,
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Correct Marks: 2 Wrong Marks: 0
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USA has renamed its strategically important Pacific Command as

Options:

91594335517 U5 NATO Pacific Command

US Japan Pacific Command
91394255615,

41394335619, US Australia Pacific Command

91394335520, S Indo-Pacific Command
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Correct Marks: 2 Wrong Marks: O
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Options:

q.uq. et Yfafees wam
91394335617,
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91394335619, i
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Match the following doctrines of US Presidents in List I with their explanation in List 11
using the correct code given below.

List I List IT
(a) Bush Doctrine (i) Preemption and Unilateralism
(b) Clinton Doctrine (ii) Always act multilaterally
(c) Reagan Doctrine (iii) Support all freedom fighters
(d) Truman Doctrine (iv) Containment of hostile regimes

Code :
Options:

(a)—i), (b)—(ii), (e)—(iv), (d)—(iii)
91394355621,

(a)iv), (b)(ii), (e)-(i), (d)iii)
91394355622,

(a)(i), (b)—(ii), (e)—(iii), (d)-iv)
91594335623,

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394335624,
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Options:

(a)—i), (b)—(ii), (e)(iv), (d)(iii)
91394335621,

(a)—(iv), (b)—(ii), (e)—(i), (d)—{iii)
91394335622,

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91534235623,

(a)(ii), (b)—(1), (e)-Liid), (d)-iv)
91594235624,
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Which Latin American country became the first global partner of NATO ?
Options:
Argentina
91394335625,

91394335606, Colombia

91394335627, ' enezuela

91394335628, Mexic0
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Options:

H1334535625. i

21594235626,

91334535627,

B1334535628.
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The statement — “The conventional army loses if it does not win. The guerilla wins if he does
not lose,” is attributed to

Options:

91394335600, | ooy Rissnger

91594335550, Che Guevara

91394335631 O Lc0on8
Sun Tzu

H1334535632.
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Which of the following is not a member of the Nuclear Suppliers Group (NSG) ?

Options:

91394335633, Cpina

Germany
91394335634,

91394335635, ‘Lpania

91394335636, oonia
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The American concept of ‘Global War on Terror’ evolved after

Options:

The Iragi invasion of Kuwait
21394235637,

139433503y The 9/11 attack

The failure to capture Osama bin Laden
21394235639,

The Soviet intervention in Afghanistan in 1979
H1334535640,
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The famous ‘Heartland theory’ was propounded by
Options:

91394335641 ackinder

9139433564 aushofer



91394335643, Clausewitz

Spykman
H1334535644,
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Question Number : 62 Question Id : 9139439072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The growth of C3I technologies would have the following impact :

(i)  The element of tactical surprise will end
(ii) Technological surprise rather than tactical surprise would be important
(iii) Offensive power would be important

(iv) Air power will play a dominant role

Choose the correct answer from the code given below :

Code:

Options:

Only (i) and (ii) are correct
913942335645,

Only (iv) is correct
21394235646,

Only (i), (ii) and (iv) are correct
91394335647,

Only (i) and (iv) are correct
913943356483,

Question Number : 62 Question Id : 9139439072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C31 drenfieh % fm % Frafafaa wm am .

() weediteh v 6 Rty o 2@ aft

(i) srenfirRrr smred eyl g T fo wwaite smred
(i) s At TEvaqul gt

(iv) waTs wifvs aea it i Fsmaft

fr= feu e e & @ wdt 3w H g

ko
Options:

91334535645, 0 3 (i) 7 &

FaA (iv
91394335646, ) w8 &

Fae (1), (i) 3 (iv)
91394335647, vt iv) 78 &

91394335648, T () S (iv) T &

Question Number : 63 Question Id : 9139439073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The command, control, communication and intelligence infrastructure helps in

(i) Reconnaissance

(ii)  Surveillance

(iii) Target acquisition

Choose the correct answer from the code given below :

Code:

Options:

Only (i) is correct
91394335649,

Only (i) and (ii) are correct
91394235650,

Only (iii) is correct
291394255651,

(1), (ii) and (iii) are correct
91594335652,

Question Number : 63 Question Id : 9139439073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

&, e, den oiv 9fy s & e wem fredt 8 2

() Trfrgem (Tamm)

(i)

(i)  wEg it Wit

fr= fow e e & wdt o g
He !

Options:

91394335649, e () T R
91394335650, e (i) T (i) T 8
91394335651, e (i) el B

(i), (i) T (iii)
91394335652, wl

Question Number : 64 Question Id : 9139439074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The members of NAFTA are

Options:

Cuba, Mexico, United States
Q1294235653

Argentina, Brazil, United States
91394335654,

Canada, Mexico, United States
91394335655,

Chile, Mexico, United States
913942335656,

Question Number : 64 Question Id : 9139439074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT & TG §

Options:

91394335653,



FALAT, FAE, T TG R

91394335654
FTel, Hfeuat, @qw UsT iR
91394335655,
feret, fFaent, ogw usg s
91394335656,

Question Number : 65 Question Id : 9139439075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an essential component of conventional deterrence ?

Options:

91394335657, ( trition
Blitzkrieg

91394335658,

91394335659, ass retaliation

91394335660, irmited war

Question Number : 65 Question Id : 9139439075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefiaa & & wia-ar aref wardes # afer T= 2 2

Options:
21394235657,
GIED]
91394335658, @ 3¢
91394235659, R
Hifid 32
21394255660,

Question Number : 66 Question Id : 9139439076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following with the correct code given below :

List I List IT
(a) Conflict resolution (i) Cold War rivalry
(b) Conflict management (ii) Reduces dangers of crisis
(e) Confidence building exercise (iii) Tackles basic issues of conflict
(d) Emergence of confidence building (iv) Information exchange
approach
Code:
Options:
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91594335661,
(a)—(ii), (b)—(iii), (e)—(iv), (d)—1)
91394335662,
(a)—(iii), (b)—(ii), (e)iv), (d)—(D)
21394235663,
(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
91594335664,

Question Number : 66 Question Id : 9139439076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 Fdt Y oz ) mEr @ Prffiad ) gafer AR -

T SRt
(a) Hehe Framor (i) ¥ g Iga
(b) T HagT (i) T % @t 6t T
(c) fozara Fmfor ufsrard (iii) == & 52 forwt =t Frern
(d) favara Fmfor 3onm &t sregga (iv) g=a fafm
% :
Options:
(a)—(iv), (b)—(ii), (e)—(ii), (d)—(1)
91394335661,
(a)=(id), (b)—(iii), (e)~(iv), (d—(1)
91394335662,
(a)—(iif), (b)), (e)~(iv), (D)D)
91394335663
(a)—(i), (b)—(iv), (e)(iii), (d)—(ii)
91394335664,

Question Number : 67 Question Id : 9139439077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The well known study based on the approach of Neo-colonialism organised by the UN
Economic Commission for Latin America was conducted under the direction of
Options:

Paul Kennedy
21594235665,

91394335666, Taul Prebisch

Thomas Piketty
H1334535667.

Tom Harper
91394335668,

Question Number : 67 Question Id : 9139439077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wYh g, fed st anfife s gro wenfia Fa-sufiearg 3arm w smarfa gfear serm
forer % & formen Frdem e o mmamm e 2

Options:

H1334535665. T

H13345556E6E,

ot fided

91334555667,

7 BTH

91334535668,

Question Number : 68 Question Id : 9139439078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Collective security as a strategy is based on the following approach :
Options:
91394335669, Liperalldealist

B91334335670. Re

Systems
91334335671,

91394335670 Cnteal



Question Number : 68 Question Id : 9139439078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bt % w9 § arffes guan = 9 @ forg 3o v smanfia 8 2

Options:

H1334535669.

1334535670,

91334535671,

B1334535672.

Question Number : 69 Question Id : 9139439079 Question Type: MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

IEHETEY/HATEIETE

Correct Marks: 2 WrongMarks: 0

Arrange the following events in the order of their occurrence using the correct codes given

below :

(i) 123 Agreement signed between India and USA

(ii) General Security of Military Information Agreement (GSOMIA) signed between India
and USA

(iii) Logistics Exchange Memorandum of Agreement (LEMOA) signed between India
and USA

(iv) 242 dialogue between Foreign and Defense Ministers/Secretaries of India and USA

Choose the correct answer from the code given below :

Code :

Options:

H1334535673.

H1334535674.

91334535675,

91334535676,

(1), (1), (1ii), (iv)

(in), (1), (iv), (iii)

(i), (1), (1ii), (iv)

(1), (111), (i), (iv)

Yes

Question Number : 69 Question Id : 9139439079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= fad ™ g2 % v w gy Prafafig genst % 9ed % w0 # sqafta
Hifere

(i) wrd o g um.u. % = 123 ausit w aEran

(i) W it um.u, % " guan WA g awsite W geman (Sftoum. e e,
(i) W oft 9,08, T, F e wEaee el fafre w1 T (wdwmei)

(iv) wrd it g um.u, % fagw qun wan afiafest % @9 242 amt

Fr= fgw e # @ wdlt 3w R g

L
Options:

(1), (11), (1), (iv)
H1334535673.

(i), (i), (iv), (iii)
91334535674,

(11), (1), (1), (iv)
91334535675,

(1), (iid), (ii), (iv)
H1334535676.

Question Number : 70 Question Id : 9139439080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The United States withdrawal from the United Nation’s Human Rights Council (UNHRC)
was triggered by the Council’s decision to

Options:

Investigate abuses against the Rohingyva minori
A13943235677. stig a8 &Y &

Establish a commission to look into abuses in Syria
91394335678,

Investigate the killing of Palestinian protesters
215394235679,

Allow civil socie ups to bring forward accusations of human rights violations
Q1=29422E880, 1 groups & e

Question Number : 70 Question Id : 9139439080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y Uy TufER &1 gy Uee gHaTasR uig (L uE. st ) @ ged & Fofa & s o

Options:



HETHEIH i e
941394335677 e e g

Hifran & geram it wite 2q 2w nfed wen
91394335678, %@

9139433557, ISR (IS & 7R S i A

01394335650 qrETel % IPEE % wTHEl & AW e w@ gy fafae drorgdt augl i saefa g

Question Number : 71 Question Id : 9139439081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements is not applicable to the traditional concept of National
Security ?

Options:

41394335651 It is State-centrie.

It emphasises power in military perspective.
Q13943235082 P po pe

It defines security in terms of external threat.
215942356835,

It emphasises the security of individuals.
913342556584,

Question Number : 71 Question Id : 9139439081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafaa # & Sh-an s wedta guan iyt seamon WA 7@ gt 2 2
Options:

T T4 Higd 2 |

B91334535681.

H1334535682. % &= RFAE

T8 G el @Al & gl e s ®
91394335633,

g safvral ot U W ae <ar @ |
91394335684,

Question Number : 72 Question Id : 9139439082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Douhet propounded the theory of ‘supremacy of air power’. Which of the following has not
been conzidered as one of the basic components of this theory ?

Options:

Aircraft is an instrument of immense capacity
91394335685,

91294335686, Air attack has no defence

91394335687 Command of air is essential

Strategic bombing is the key to success
Q1394235 E588, teg! & Y

Question Number : 72 Question Id : 9139439082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gae 3 gard ufw & geaar w1 fagra wfaarfen fen | Frefefaa o @ @ fra fagrma = qengg sewe
gt | AT # ?

Options:

A (UHGHTE) SAHH &HAT 1 /16
91394335685, ( ) ¢

01394335656, T G B A HE T4 W R

B91334535687. Eaﬁ'ﬂ'ﬂﬁ ¢

wefore anardt awear 6 Foft 2

B1334535688.

Question Number : 73 Question Id : 9139439083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The statement — “Terrorism is theatre” was given by
Options:

9139433565y, Dnan Jenkins

91394335600, Tichard Burchill

91394335691 Michael Stohl



91394335690, oot Howard

Question Number : 73 Question Id : 9139439083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ug foraent iy 8 — “atrdeharg TrHa 7 2
Options:

H1334535689.

fears e

91334535630

LIEE SR

91334535691

whie glas

913345356392,

Question Number : 74 Question Id : 9139439084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who was the first U.S. President to visit India ?
Options:

Harry Truman
913942356493,

John F. Kennedy
912334535694,

Dwight D. Eisenhower
913943356395,

Jimmy Carter
91334335636,

Question Number : 74 Question Id : 9139439084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
YA o g1 W A arent gyw sl wegaf oA o1 2

Options:

&l gt

913345356593,

i T, A
91394335694,



ganse €, sgeETat

91334535655,

H1334535696. Rl

Question Number : 75 Question Id : 9139439085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following events in ascending chronological order with the help of the code
given below :

(i)  Creation of Israel
(ii) Establishment of the PLO
(iii) Balfour Declaration
(iv) First Arab-Ierael War
Choose the correct answer from the code given below :
Code :
Options:
(iw), (1), (i1), (iii)

91334535637,

(i), (1), (iw), (1)
913345356598,

(1), (iid), (ii), (iv)
B91334535699.

(1), (i), (iii), (iv)
91334335700,

Question Number : 75 Question Id : 9139439085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr= feu o e i ggr & Frafafaa venedt it smitd Fwesma § syafem
Hifor

() goEe w Fmin

(i) dtoue.an. v

(iii)  SEHR EoT

(iv) SY" 3FE-390H 4

fr= fu e e A ° wdt 3w g

®e:
Options:

(iw), (1), (ii), (1ii)
H13345356597.



(1ii), (1), (iw), (i)
913345356398,

(1), (111), (i), (iv)
91334535699,

(1), (i), (iii), (iv)
91334535700,

Question Number : 76 Question Id : 9139439086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The statement — “There has never been an international system including the whole planet
but in the post-world war period for the first time humanity is living one and the same
history and there has emerged some kind of global system” is attributed to

Options:

91394335701, Karl W. Deutsch

Raymond Aron
21394235702,

Stanley Hoffman
913942535703,

Morton Kaplan
91394335704,

Question Number : 76 Question Id : 9139439086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

7z Toraent ®ym B - “wft it 58 T F ws srawrsdta sgae A8 W@, wig I fava g e § vew
AR AT U shrerd ot @ § of ueh e it v saae awd @7 2

Options:

Fed gorq, SN
91394335701,

e WA

9133433570z,

A dei

91334335703,

91334535704,

Question Number : 77 Question Id : 9139439087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When did W.T.0. come into existence ?
Options:

Janu , 1991
91Z39432357 05, ay

Janu , 1993
91294335706, ay

Janu , 1995
91294235707, ary

January, 1996
913943235708, ay

Question Number : 77 Question Id : 9139439087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

geeg, 2131, Fa aiferes o s 2
Options:

Fait, 1991
91394335705,

Fafl, 1993
91394335706,

Fait, 1995
91394335707,

wail, 1996
91394335708,

Question Number : 78 Question Id : 9139439088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following oil pipelines is the longest in the world ?

Options:

Baku — Thilisi — Ceyhan
9194235709

Iran — Syria — Lebanon
91394335710,
91394335711 on ~ Pakistan —India

Friendship pipeline
Q91294235712 P pipe



Question Number : 78 Question Id : 9139439088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Prafafiga & & F- G e fava § gatfie @6t & 2

Options:

arsh — feraefidt — dam
91394335709,

&= — Hifen — daee
91394335710.

1+ — ™ -y
91394335711

el TrgTeTEA
91394335712,

Question Number : 79 Question Id : 9139439089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following countries owns the port of Klaipéda ?

Options:
91394335713, ihuania

Germany
291394235714,

91394335715, russian Federation

91394335716, LC.ArUS

Question Number : 79 Question Id : 9139439089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfafiga & & s-m 3o wergter & sqome w1 ofas 2 2

Options:

fergarfrn
91394335713,

291594235714,

=t warEy (1TRRE HetwE)
91394335715,



2915334235716,

Question Number : 80 Question Id : 9139439090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I (Ports) with List II (Countries they are located in) by using the codes given
below :

List I List IT
{(Port) (Country)
(a) Gwadar (i) Iran
(b) Chabahar (ii) Myanmar
(e) Sittwe (iii) Sri Lanka
(d) Hambantota (iv) Pakistan
Code :
Options:
(a)—iv), (b)—(i), (e)—(ii), (d)—(iii)
Q1294235717
(a)—i), (b)—(ii), (e)—(iii), (d)—(iv)
Q91594235718
(a)ii), (b)—(i), (e)—(iv), (d)—(iii)
Q91594235719
(a)—(iii), (h)—(ii), (e)—(1), (d)—iv)
Q1294335720

Question Number : 80 Question Id : 9139439090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= faw 7o g2 1 v A gu g 1 (F5UmE) F gt 1 (390) % Ty 3R sraEteaft % sgan
gitfera Shifer -

T 1 w11
(sE) (@)
(a) TG i F=
(b) =TETEN (i) =R
(c) Foraa (iii) 5t S
(d) gFar=tal (iv) TR
% :
Options:
61394335717 IV (D)=, ()i, (d)—iid)

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234235718,



(a)-ii), (b)-1), (e)iv), (d)-1ii)
91394335719,

(a)—iii), (h)—(i1), (e)-i), (d)-iv)
91394335720,

Question Number : 81 Question Id : 9139439091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following waterways is considered crucial in Russia’s Eastern Policy ?

Options:

91394335701 Ouez Canal

91394335720 DlackSea

Bosphorus and Dardanelles
913245335723,

Caspian Sea
21594235724,

Question Number : 81 Question Id : 9139439091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ fra semmt =t g i off Hife % oo srafis weept o s 2 2
Options:

=]
Q1394335721 T

91334535722,

ACRIE TS TEHeH
91394335723,

e g

913345335724,

Question Number : 82 Question Id : 9139439092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following regions of India occupy a primary position in Modi's pursuance of
“Act East” policy 7

Options:

91394335725, verth India



91394335706, South India

North-Eastern part of India
215394235727,

Western part of India
91394335728,

Question Number : 82 Question Id : 9139439092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

atgt i “ue g it % FHarta Frafafaa § @ FE & % ger vEe e 2 2

Options:

B1334535725. o

it e
B1334535726.

WA <l I |
41394335727

913345335728, * o

Question Number : 83 Question Id : 9139439093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I (Countries) with List IT (Currencies) by using the codes given below :

List I List IT
(Country) (Currency)
{a) Russia (i) Manat
(b) Uzbekistan (ii) Tenge
(c) Kazakhstan (iii) Som
(d) Turkmenistan (iv) Rouble
Code :
Options:
()i}, (b)—(ii), (e)—(iii), (di—(iv)
Q1594235729
(a)iv), (h)—(iii), (e)—(ii), (d)—(i)
Q1294335730

(a)—(iii), (b)—(i), (e)(iv), (d)—(ii)
H91334535721.



(a)—ii), (b)—(iii), (e)~i), (d)-iv)
91394335732,

Question Number : 83 Question Id : 9139439093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= fau o F v S g g 1 (S) g 11 (9E) % e gafaa fif

g1 q I
(3w) (3=m)
(a) ®F (i) =

(b) FHATRETH (iiy o=
(¢) HATEETH (iii) gt

(d) gFfEaE (iv) Fad
He:
Options:
(a)—(i), (b)—(ii), (e)—{iii), (d)—(iv)
91394335729,
(a)—(iv), (b)~(iil), (e)(ii), (d)—(i)
91394335730,
(a)(iif), (b)), (e)—(iv), (d)—(ii)
91394335731,
(a)=(id), (b)—(iii), (e)~(i), (d)~(iv)
91394335732

Question Number : 84 Question Id : 9139439094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When Hardford Mackinder developed “Heartland Concept”, which of the following regions
did he focus on ?

Options:

Euro
913943235733, pe

91394335734, (rica

9139433575, Central Asia and Eurasia

91394335736, Cpina

Question Number : 84 Question Id : 9139439094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

G

H1384535733.

2915942357354,

we ufirn it e

91334535735,

91334535736,

Question Number : 85 Question Id : 9139439095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following world events in ascending chronological order by using the codes
given below :

(i)  Nazi attack on the Soviet Union

(ii) Beginning of the Second World War
(iii) Capture of Berlin

(iv) Bombing of Nagaszaki and Hiroshima

Choose the correct answer from the code given below :

Code :
Options:
(i), (1), (iii), (iv)
91=94335737.
(1), (i), (iii), (iv)
91294335738,
(1ii), (iw), (1), (i)
91Z942357349.
(iw), (iii), (ii), (1)
91394335740,

Question Number : 85 Question Id : 9139439095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A fow w5 1 F qu Prefefaa fava-wemed 39 IR ek # sqaferT i
(i) wiferma w9 ot At sk

(i) fgera fova 3¢ =1 wow

(iii) @fef o Fean

(iv) ot 3t fetifim o e

fr=r few e F & Tt I gf

He:
Options:

(1), (1), (1), (1v)
91334535737,

(1), (i), (1ii), (iv)
B1334535738.

(iii), (iv), (i), (i)
913343357359,

(i), (11i), (i), (1)
91334335740,

Question Number : 86 Question Id : 9139439096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I (Countries) with List IT (Capitals) by using the codes given below :

List I List IT
(Country) (Capital)
(a) Latvia (i) Kishinev
(b) Moldova (ii) Thilisi
(¢) Georgia (iii) Riga

(d) Kazakhstan  (iv) Astana

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234235741,

(a)—(iii), (b)—(i), (e)-ii), (d)~(iv)
915942335742,

(a)—iii), (b)~(iD), (e)—(i), (d)iv)
91334235743,

(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394335744

Question Number : 86 Question Id : 9139439096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Fr= faw T e T Fd g9 g 1 (W) g 11 (Teart) % g gifea fifa

g1 Tt I
(3m) (Frret)
(a) @rafan (i) Frfira
(b) Hieetat (i) feraefteft
(e) Afaran (iii) o
(d) FHAEETH (iv) 3TEATHT
Hhe:
Options:

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91334535741,

(a)—(iii), (b)—(1), (e)—ii), (d)~(iv)
91334235742,

(a)-iii), (b)id), (e)—(i), (d)—liv)
91234235743,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394335744

Question Number : 87 Question Id : 9139439097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mateh List I (Leaders) with List IT (Countries) by using the codes given below :
List I List IT
(Leader) (Country)

(a) Mujibur Rahman (i) Iran

(b) Ayatollah Khomeini (ii) Russia

(¢) Vladimir Lenin (iii) USA

(d) Abraham Lincoln (iv) Bangladesh

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594235745,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
91334235746,

(a)-iii), (b)id), (e)—(i), (d)—liv)
91234335747,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394335748,



Question Number : 87 Question Id : 9139439097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr faw T e 1 Rt FAd g9 g 1 (aT) g 1 (3) % ary gafed $if )

g1 | 1T
(Fm) (3m)

(a) Hefrat @M (i A

(b) swTgFen @it (i) =|

(c) semfedit wfm (iii) HY TS TR
(d) aremen ferem (iv) aTeTeH

®e:
Options:

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91334535745,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
91334235746,

(a)-iii), (b)id), (e)—(i), (d)—liv)
91234335747,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394335748,

Question Number : 88 Question Id : 9139439098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I (Authors) with List I (Books) using the codes given below.

List I List IT
(Author) (Book)
(a) Leo Tolstoy (i) Indira Gandhi

(b) Jawaharlal Nehru (ii) Anna Karenina
(c) Mahatma Gandhi (iii) Glimpses of World History
(d) Pupul Jayakar (iv) My Experiments with Truth

Code :

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594235749,

(a)—iv), (b)—(iD), (e)—(iil), (d)~(1)
91334235750,

(a)—ii), (b)—(iid), (e)-{iv), (d)—~1)
91394335751,

(a)—(iii), (b)—(i), (e)-{ii), (d)~(iv)
91234335752,



Question Number : 88 Question Id : 9139439098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= fau o 2 1 v O g g 1 (ShEe) g 11 (TET) & w1y gfed $if
e 1 Lipll
(vE=) (ger)

(a) faatt eieaeis (i) gfEn wisf

(b) FaTEteATel H8® (i) o= KA

(c) HaTeat Tieft (iii) fremd a1fe aws fash

(d) I9 FTH (iv) =8 wetiaew fag g
% :

Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334335749,

(a)—iv), (b)id), (e)-(iil), (d)—~1)
91394335750,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394335751,

(a)—(iii), (b)—(1), (e)—ii), (d)~(iv)
91334235752,

Question Number : 89 Question Id : 9139439099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following was the President of the USA when 9/11 occurred ?
Options:
91394335753, Dl Clinten

George Bush (Senior)
91394335754,

George Bush (Junior)
291394235755,

Ronald Reagan
913942535756,

Question Number : 89 Question Id : 9139439099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9/11 % B9 < 999 9.7, i & el Fefafaa da s ¢ 2

Options:



9153394235755, R

sitel g9 (wfifra
91394335754, w )

91334535755, o w {\_{'ﬁq{}

91394335756, U0 B

Question Number : 90 Question Id : 9139439100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is responsible for deteriorating Russia-US
relations 7
Options:

91394335757, Drexit

US accusation of Russian meddling in Trump’s Presidential elections
91334535758,

91394335759, | utn’s smartness

The rising value of dollar
21394235760,

Question Number : 90 Question Id : 9139439100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wq-arafer gt # famg & fou Freafafias 4 @ <0 swerft 2 7

Options:

H1334535757.

91394335758, grT A R T fh wEt wegefa oo % e wwa ww

qfem i gif¥mrd (=)

215394235759

Bieit &1 Fgdl
91394335760, A

Question Number : 91 Question Id : 9139439101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct code for Assertion (A) and Reason (R) as given below.

Assertion (A) : The river water crisis in Central Asia is largely due to the rivalry between
upstream and downstream countries, trying to dominate over hydro resource:

Reason (R): Amu Darya and Syr Darya bypass the most populous country of the
region-Uzbekistan.

Code :
Options:

Both (A) and (R) are correct
Q1394335761

(A) is correct but (R) is not correct
Q1=29422E782,

(R) is correct but (A) is not correct
Q1394335763

Both (A) and (R) are not correct
Q1294225784

Question Number : 91 Question Id : 9139439101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prferfiga sifirram (A) il o (R) % fore wdt e Fraffa $ifim
fiepeT (A) : wea ufirn # 98 Sat dehe o1 sferamraraan s Juferg sit sryamaet 9 % ot
yfergfrgar & it wie gameEt W anfogss S0 & e 1 8 |

T (R) : ¥y gfen it fir gfen 1 9@ 39 &9 & waffuss Saden are qu-Iwafaem # are
L E # |

Fe:
Options:

A) (R
91394335761 (&) 3R (R) T Tt §

(A) , wfe (R)
Q1942257 E2, F@% E‘é"lﬂ'@f%

(R) , wfe (A)
91394335763, wa R T

A) F (R
91394335764, (&) 3 (R) 2R 7 7 &

Question Number : 92 Question Id : 9139439102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the correct code for Assertion (A) and Reason (R) as given below.

Assertion (A) : The annexation of Crimea by Russia was a masterstroke of strategic
diplomacy against Ukraine.

Reason (R): Ukraine’s internal politics is too fragile to withstand Russian onslaught
leading the country to a civil war.

Code :
Options:

(A) is correct but (R) is not correct
Q1394335765

Both (A) and (R) are correct
Q1=2942=2E7EE,

(R) is correct and (A) is not correct
Q13943357 ET.

Both (A) and (R) are incorrect
Q1=2942=E7EE,

Question Number : 92 Question Id : 9139439102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafiga stfimem (A) ot o (R) % o wdt e Faffa $ifea |
stfiry (A) - =6 gra shifirn =1 faer o % favg Refom weiifa =1 v wereft wgm ot |

T (R) : T it aiafeh Toritfa w0 % woe e % ang o & smafuss rogs feufa 3 of,
et =8t 7z 3¢ 7 wnf wareq gam |

E o
Options:

(A) , @i (R)
91394335765, wa R T

A) F (R
91394335766, @ 3 (R) 3 7 8

91394335767 (P T & S (A) T R R

A) 3 (R TeAd
91394335768, ) 3 R) ¥ g

Question Number : 93 Question Id : 9139439103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following crises is responsible for the desiceation of the Aral Sea 7

Options:



91394335769, | ater crisis

Ecological and environmental crisis
B1334535770.

91394335771, Leonomic crisis

91394335772, | oltical erisis

Question Number : 93 Question Id : 9139439103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wrE qrR ht gue  foe Freafafas & @ #ta-an gee meEt 2 2
Options:
I Hohe
91394235769,

91334335770, 3w e

91334335771,

91334535772, e

Question Number : 94 Question Id : 9139439104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following countries is Nagorno-Karabakh an enclave ?

Options:

Georgia
91394335773

91394335774, Crmenia

91394335775, Meldova

Azerbaijan
B1334535776.

Question Number : 94 Question Id : 9139439104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFreafeafiga § @ form 2o 4 qoriAl-srEre v o989 (Feee) 8 7



Options:

B1334535773.

913345335774,

91334535775,

913345335776,

Question Number : 95 Question Id : 9139439105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct code for Assertion (A) and Reason (R) as given below.
Assertion (A) : Indo-Russian economic relations have virtually staggered over the
post-Soviet years, reaching to just § 10 billion a year.

Reason (R): Russia’s economic relations with India is between one State doing business
with the other, private business being largely absent.

Code :

Options:

Both (A) and (R) are correct
Q1394235777

Both (A) and (R) are not correct
Q1394323577 E,

(A) is correct but (R) iz not correct
A13943235779.

(R) is correct but (A) is not correct
Q13943235750

Question Number : 95 Question Id : 9139439105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiga stfimem (A) ol 7 (R) % fore adt 52 Faffa $ifi
sfiyeperT (A) : Io-Hifaaa aul o ¥ia-&8 i gay arega § st 8 T 8, | U6 99 # dae

10 3 ST H @M E |
T (R) : & WA & F14 ATHF Fau TF TF G0 AL T o A9 SATIR H0A1 ¢ AR5
wayi 7 froft st srferspraraan srqufea € 1
He
Options:
(A) # (R) 51wt &

215394235777,



(A) 3 (R
91394335778, } ) 3 T &

(A) , wfe (R)
91394335779, wh TR

(R) , wAfeT (A)
91394335780, w@ e A TR

Question Number : 96 Question Id : 9139439106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Arrange the following events in ascending chronological order by using the codes given
below :

(i) Death of Leonid Brezhnev
(ii)  Rise of Jaruzelski in Poland
(iii)  Fall of the Berlin Wall
(iv)  Unification of Germany
Choose the correct answer from the code given below :
Code:
Options:
(1), (ii), (iid), (iv)

21594235781,

(i), (1), (iv), (111)
91334535785,

(1), (1), (1), (1v)
91334535783,

(1w}, (iid), (1), (1)
91334535754,

Question Number : 96 Question Id : 9139439106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i e e e 1 W F g Frefafan sened S 3 A FesRa § gt Hif ;
(i) feasiifg s & gy

(ii) Ttets H SEtereehl @1 afavta

(i)  =fe aw i gaA

(iv) St ST TR

Hre feu e # @ wdt 3w w g

e D

Options:



(1), (11), (1ii), (iv)
91334535751,

(1), (1), (1v), (1)
91334535782,

(1n), (1), (iii), (iv)
B1334535783.

(iw), (1ii), (ii), (i)
9153394235784,

Question Number : 97 Question Id : 9139439107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following countries occupies a pivotal place in narcotic trafficking ?
Options:
Palkist
91394335785. an

91394335786, | Urkmenistan

Afghanistan
91394335787,

Nepal
91334335758,

Question Number : 97 Question Id : 9139439107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e vl A aent § frefrfar fd e v s e wm 2 2
Options:

91334535785,

EZIEIsIE]

21594235786,

2153394235787,

91334535758,

Question Number : 98 Question Id : 9139439108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following oil pipelines goes from Russia to China ?

Options:

91394335759, \apuceo

2153942357390, 1Pl

Angarsk-Dagin
9139432357491, & dng

Friendship pipeline
Q1394235792 P pipe

Question Number : 98 Question Id : 9139439108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafiga & @ -t oo wguers =0 @ o =4 7 ardt 8 2

Options:

Arght

91334535759,

| ELER I

91334535730

91334535791,

el TEYeTE
Gl13a4=235792,

Question Number : 99 Question Id : 9139439109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is Central Asia’s major cause of environmental disaster ?
Options:

Over exploitation of river water
291334235733,

91594335704 Desiceation of the Aral Sea

Dryving up of river mouth
Q1=294=2=E795, g up

Political fight among countries of the region
913943357936,



Question Number : 99 Question Id : 9139439109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

neg ufirn § wafaniy s # Fefafa 4 @ - vge Fwo g 2
Options:

o o AT+
91394335793, ﬁ e

HIL ol &9 qdT1
21594235794, e I ( )

7t % Hg W gEA
91394335795, e

91334535736, W E W F A e

Question Number : 100 Question Id : 9139439110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following US leaders gave the slogan “America First™ ?
Options:

Ronald Reagan
91394335797,

91394335795, Dl Clinton

91394335799, Darack Obama

Donald Trump
9133245335800,

Question Number : 100 Question Id : 9139439110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiaa # & fem smfeh Jam 3 @ o fean o “amfim wear” 2

Options:

91394335797 TS M

2153342357398, R

91334535739,



91334535800,

Question Number : 101 Question 1d : 9139439111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct code for Assertion (A) and Reason (R) az given below.
Assertion (A) : All terror attacks on Russian Federation are traced to Chechen terrorists.
Heason (R): Chechnya demands independence from the Russian Federation, the denial of
which has led to Chechens taking up arms against Russia.

Code :
Options:

Both (A) and (R) are correct
91394235801,

Both (A) and (R) are incorrect
Q1394235502

(A) is correct but (R) is not correct
91394235802,

(R) is correct but (A) is not correct
Q1394235504

Question Number : 101 Question Id : 9139439111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga sifisraa (A) sff 79 (R) % o vt 52 Fraffa $ifse

SfirpeT (A) : 6t werEg T G STaward! gl w1 G S HATawaTsl @ |
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fez efirm s e & |
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Options:

(A) 3 (R
91394335801 } ) 3w

(A) 3T (R TeAd
91394335202, } ) 3 g

(A) , ofeR (R)
91394335803, wa R AR

(R) , wifer (A)
91394335804, wa e e 2

Question Number : 102 Question Id : 9139439112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following fleets was in dispute between Russia and Ukraine ?

Options:

91394335505, e Baltic Fleet

91394335806, 1he Pacific Fleet

91394335807 The Black Sea Fleet

91394335805, The Northern Fleet

Question Number : 102 Question Id : 9139439112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafgr dd Frm s Htom sa s s S i faarg o 7
Options:

Alfeesh =gl
91394335805,

9T T
91394335806,

FTeAT GO
91394335807,

Idt wg
91394335808,

Question Number : 103 Question Id : 9139439113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following Russian politicians was an academician ?
Options:

91394335809, Mikhail Gorbachev

91394335510, Cons Nemtsov

91394335811, Cons Yeltsin

Yevgeny Primakov
91334335812,



Question Number : 103 Question Id : 9139439113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafia & & S w6t Toritfos v sl fagm @1 2

Options:

91324335509, Pt Mt
91394335510, e EIrQH‘TE[
913943358511, MR Jeafe
31334335512, et B

Question Number : 104 Question 1d : 9139439114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following events in asecending chronological order by using the codes given
below :

(i) Islamic Revolution in Iran

(ii) Baghdad Pact

(iii) Balfour Declaration

(iv) Establishment of Gulf Cooperation Council

Choose the correct answer from the code given below :

Code :
Options:
(i), (iw), (i), (iii)
91394235813,
(i), (1), (i), (iv)
91394235514,
(11, (1), (iii), (iv)
91394235815,
(iw), (i), (iii), (i)
Y1394235E1E.

Question Number : 104 Question Id : 9139439114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A fow o 2t e w1 Praffa wened  FeETEHER sqafn fif ;
(i) A o geardt sifa
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He:
Options:

(11), (iv), (i), (ii1)
91334535813,

(1ii), (ii), (1), (iv)
B91334535814.

(id), (1), (iii), (iv)
913345335815,

(1v), (ii), (i1, (1)
91334235816,

Question Number : 105 Question Id : 9139439115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R). Identify the appropriate code for the Assertion (A) and Reason (R) as given
below.

Assertion (A) : Terrorism is a “parting gift” given by the twentieth century to the
twenty-first century, which has posed an unprecedented problem
to the nation state.

Reason (R): Since the terrorist is neither a criminal nor a soldier and he iz also a man on
wheel and the modern State iz ill-equipped to deal with it.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
91394335517,

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
Q159423581 8.

(A) is true, but (R) is false
91394235819,

(A) is false, but (R) is true
91334535820,

Question Number : 105 Question Id : 9139439115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Fr= 3t o fou e B v sfiraa (A) @ o g 7 (R) @ | Frefafiaa s (A) sfad (R #
fere 3wy %2 1 Frafor fifs |
AT (A) : Fyrieparg “Fremrart I7a” & S sebrodt o # dodf w3 R § siose T
T % e o anjaqd anen @t f 7
T (R) : dfer straerardt 7 @t squeh ® ot 7 & @ qu 98 SarwE st oft @, sngfaes oS
gt Froes d gafssa 78 7

L
Options:

A) F (R #HR (R) (A) it T8 =91ET T 2 |
o150az5cg1y D (R) g1 =&t & 3 (R) (A) R ot H

(A) 3 (R) 3T =t £, fRg (R) (A) A ot = 7 &
91294335818,

(A) T@t 2, fovg (R) Tera &
Q91294335819

(A) T &, fRg (R |t &
Q1394235820

Question Number : 106 Question Id : 9139439116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Islamists Boko Haram militants are active in which one of the following countries ?

Options:

91394335gp1 Cnana

Nigeria
91394335822

Ethiopia
21594235825,

91394335504, Malawi

Question Number : 106 Question Id : 9139439116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tt drent g Iuardt Frafafaa o & & foret afsea € 2

Options:

91334535821, e



gt

H1334535822.
H1334535823.
H1334535824.

Question Number : 107 Question Id : 9139439117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Kurds are significant minorities in which of the following countries of West Asia ?

Options:

Jordan, Iraq, Saudi Arabia
91394335825,

Iraq, Iran, Turkey
Q1394235826.

Iran, Iraq, Saudi Arabia
91394335827,

Kuwait, Saudi Arabia, Iraq
91394335828,

Question Number : 107 Question Id : 9139439117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afrem uftrn % Frfefiaa 3o & @ formt 3¢ eyl swaders & 2

Options:

Hied, o, HFc! 3=
91394335825,

I, A,
91394335826, T

, , Al Ia

91394335827 &, T

Fad, TF4! 3G, T
91394335878,

Question Number : 108 Question Id : 9139439118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following events in ascending chronological order with the help of codes given
below.

(i) UDI Declaration by Rhodesia
(ii) South Africa became an independent dominion
(iii) South Africa became a non-racial State
(iv) Formation of African Union
Choose the correct answer from the code given below :
Code :
Options:
(i), (id), (iv), (D

91334535829,

(11), (1ii), (1), (iv)
91334535820,

(iw), (iD), (iid), (1)
91394335831

(1), (i), (iv), (11)
91334535832,

Question Number : 108 Question Id : 9139439118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hr= fou o et 6t wera @ Frafafas gemedt #it sid sremmagEn srafeya fifew |
(i) UefmEm gro 4.$ e,

(i) gfEror st Taaa stfts &
(iii) gfégor anfiem Tt u=g =
(iv) 7Yt T HT TSA

frar fgu e F @ Tt 3w+ 9fi

®e:
Options:

(1), (ii), (iv), (1)
H1334535829.

(11), (1ii), (i), (iv)
91334535830,

(1v), (ii), (i1), (1)
913345358351,

(1), (iid), (iv), (1)
H13345535832.



Question Number : 109 Question Id : 9139439119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the Leaders mentioned in List I with their countries mentioned as List 1T with the
help of the codes given below :

List I List IT
(Leader) (Country)
(a) Ahmed Sékou Touré (i) Ethiopia
(b) Haile Selazsie (ii) Uganda
(c) Patrice Lumumba  (iii) Guinea
(d) Milton Obote (iv) Congo
Code :
Options:
(a)—(iii), (b)—(ii), (e)-1), (d)iv)
91394235833,
(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
21394235834,
(a)—(iii), (b)), (e)—(iv), (d)—(ii)
91594335535,
(a)—iv), (b)—(iii), (e)—i), (d)—(ii)
91394235836,

Question Number : 109 Question Id : 9139439119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= fou o et it warEar @ gt 14 fou o Aanedt wt gt 119 fow o 3 % wry gafen Hifsw

qe I |l 1T

(F=m) (=w)
(a) 980 FHIS AR () 3fuEifen
(b) &t Heret (i) st

(c) e eean (i) Frft
(d) Tireeq oAt (iv) =Tt

®C:
Options:

(a)—iii), (b)—(ii), (e)—(i), (d)—liv)
91594335833,

(a)—(1), (b)—(iv), (e)—{ii), (d)—(iii)
91334235534,

(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91334335835,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394335536,

Question Number : 110 Question Id : 9139439120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following Countries (new name) mentioned in List I with their old name
mentioned in List II with the help of the codes given below.

List I List IT
(Country’s New Name) (Country’s Old Name)
(a) Malawi (i) Dahomey
(b) Namibia (ii) Nyasaland
(c) Benin (iii) Northern Rhodesia
(d) Zambia (iv) South West Africa
Code :
Options:
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
91594335837,
(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394235838,
(a)—(iii), (b)—(i), (e)-(iv), (d)—(ii)
291394235839,
(a)—(i), (b)—(iii), (e)(ii), (d)~(iv)
91394235540,

Question Number : 110 Question Id : 9139439120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A faw o 51 A e @ Prerfifad gt 19 foe o 39 (¢ ) g 11 F syl s g
T & gefea hifer |

H\#‘TI Iﬁ“l‘]]
(3 Yo ) (Z7 &1 g )
(a) HeTE! (i) zaf
(b) reftferm (ii) =ATETAS
() wFH (iii) Ierft TR
(d) T (iv) gfor ufFm suhe
C T
Options:
91394335837, @D, (B)—(i¥), (A1), (d)~(iD

(a)—iv), (b)—(ii), (e)-(iid), (d)—~D)
91394335838,



(a)—(ii1), (b)—(i), (e)—{iv), (d)—(i1)
91334535829,

(a)—1), (b)—(iii), (e)ii), (d)-iv
91334535840,

Question Number : 111 Question 1d : 9139439121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the 19905, the most significant number of immigrants of Israel came from

Options:

H913345535841. Usa

91394335840, 1ussia

Egypt
B912334535843. EYP

Western Europe
H91334535844.

Question Number : 111 Question Id : 9139439121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1990 % 295 ¥ $909A § Had 991 GEa § Avar A o

Options:

2915394235841, 8

9133453584z, ik

91334535843, e a

afverdt g0 &
91394335844, o

Question Number : 112 Question Id : 9139439122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following events in their ascending chronological order with the help of the
codes given below :

(i) Oslo Accord
(ii) Establishment of the PLO
(iii) Camp David Accord
(iv) UN recognised PLO as a legitimate organization of the People of Palestine
Choose the correct answer from the code given below :
Code :
Options:
91394335545 (i), (iv), (ii), (iii)

(1ii), (ii), (iv), (1)
912334535846,

(i), (i1), (i), (iii)
91334535847,

(11), (iv), (1), (1)
91334535848,

Question Number : 112 Question 1d : 9139439122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2 fow o gl B wErEar & Feffad gemel 3% A0E FrenEn § sxafer fifvg
(i) oFrest wasitaT

(ii) ot e, 37, < T

(iii) %7 e wwsitar

(iv) T g 3 dhue. o7, @t feferedts & &t % 39 ges & wv ° wraar §

fr= fou e e & @ wdt I g

®e:
Options:

(1), (iw), (ii), (i1i)
H91334535845.

(11i), (ii), (iv), (1)
913345355846,

(1v), (ii), (1), (ii1)
91334535847,

(11), (iv), (iid), (1)
B1334535848.



Question Number : 113 Question Id : 9139439123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following West Asian countries produce no oil ?

Options:

E t, Kuwait
912394335849, &P

Israel, Jordan
913942335850,

Iraq, UAE
91394235851,

Iran, Saudi Arabia
91394335852,

Question Number : 113 Question 1d : 9139439123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frrfefiga ofvadt ofdemd 29 & & . 29 9@ =1 Fouree 98 Fa & 7

Options:

fira, Faa
91394335549,

A, e
91394335850,

Th, L0E,
913943355851,

, T3 HE

91394335852, ¥

Question Number : 114 Question Id : 9139439124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following organizations mentioned in List I with their countries mentioned in
List IT with the help of the given codes :

List I List I1
(Organization) (Country)
(a) Hamas (1) Egypt
(b) Hezbollah (ii) Palestine
(e) Savak (iii) Lebanon
(d) Brotherhood (iv) Iran
Code:

Options:



(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91394335855,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394335554,

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
91334535855,

(a)—(1), (b)—(iv), (c)—{ii), (d)—(iii)
91334335856,

Question Number : 114 Question Id : 9139439124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A2 fy mu g2l A wErar @ Feffes gt 18 shyfea gredt # geh 1 F sfyfaa 3% 29 ¥ any
gefera Hiform

Tt Tt 11
(Fea) (Fm)
(a) BHTH (i fra
(b) fewag (i) Tepferedia
(¢) HEH (iii) &=
(d) FeTgs (iv)
C T
Options:
(a)—(iii), (b)—(iv), (e)—i), (d)—(iD)
91394335353,
(a)—(ii), (b)—(iii), (e)=(iv), (d)—(i)
91394335354,
(a)—(ii), (b)—(iii), (e}—~(i), (d)~(iv)
91394335855,
(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
91394335356,

Question Number : 115 Question 1d : 9139439125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the countries mentioned below did notf participate in the Joint Military
Exercise of BIMSTEC held in India ?

Options:

Nepal
91394335857,

Bangladesh
291394235858,



91394335859, or Lanka

91394335860, hailand

Question Number : 115 Question Id : 9139439125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freafeafiga & @ fm o 3 wra d s faress (BIMSTEC) % e 8 sreama § wm agfffern
o1 ?

Options:

H1334535857.

91334535855,

H1334535859. Hew

ATgeS

91334535860,

Question Number : 116 Question Id : 9139439126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following events in ascending chronological order with the help of the codes
given below :

(i)  Slave Trade
(ii) De-colonization of Africa
(iii) Formation of the OAU
(iv) Partition of Africa
Choose the correct answer from the code given below :
Code :
Options:
(1), (1v), (1), (111)

91334535861,

(i), (1), (iw), (i)
H1334555862.

(iw) (iid), (i), (ii)
91334535862,

(1), (iv), (i), (1)
91334535864,



Question Number : 116 Question Id : 9139439126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1 fou 0 52 B e @ Prefifad gened F i e § sEfen R -
(1) G =49

(i) b #1 fa-aftafrafieo

(iii) 3.0, I TS

(iv) nbret &1 fawram

fr=r fiu o e § 9wt I gh
C T
Options:
(ii), (iv), (i), (iii)
913394255861,
(1), (1), (iv), (11)
91334535862,
(iw), (1ii), (1), (11)
H13345535863.
(1), (iw), (ii), (iii)
9139425355864,

Question Number : 117 Question Id : 9139439127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following events in ascending chronological order with the help of the codes
given below :

(i) Abolition of the Caliphate
(ii)  British occupation of Egypt
(iii) Arab Revolt
(iv) Mandate system in Arab Areas
Choose the correct answer from the code given below :
Code:
Options:
(iii), (i), (ii), (iv)

91334535865,

(1), (1), (i), (iv)
H1334535866.

(i), (i1), (iii), (i)
91334535867,



(1), (111), (ii), (iv)
91334535868,

Question Number : 117 Question Id : 9139439127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr feu gt it wer @ Frfefiad gemstt st s Frawa § sgafera fifg
(i) Fferaa (@efterad) 1 I

Gy e w fafew snfime

(i) o fage

(iv)  37a &7 % ey sqaen

fr fou e F @ Tt 3w A 9f

He:
Options:

(iii), (1), (ii), (iv)
H13345535865.

(id), (iii), (1), (iv)
91334535566,

(iw), (ii), (i), (1)
91334535867,

(1), (1i1), (ii), (iv)
91334535868,

Question Number : 118 Question Id : 9139439128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the events of the Arab-Israeli peace process in ascending chronological order in
which they occurred with the help of the given codes :

(i) Roger’s Proposals
(ii) Camp David Accord
(iii) Madrid Conference

(iv) Oslo Accord
Choose the correct answer from the code given below :
Code :
Options:
(1), (1), (1), (iv)

91334535869,

(iw), (1), (iii), (1)
91334535870,



91334535871,

91334535872,

(1ii), (1), (ii), (iv)

(1), (11}, (1), (1v)

Question Number : 118 Question 1d : 9139439128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=r fw o et it werr & swa-geraet wifa wfen A genadt ot 3 9few g9 % i wresen
% sqafeya $ifsm

(i) T e

(i) ey fae gughan

(iii) Bfge aetem

(iv) et gugitar

Hre fou e e # @ wdt I g

w2

Options:

9153394235869,

91334535870,

912334535871,

215394235872,

Question Number : 119 Question Id : 9139439129 Question Type: MCQ Option Shuffling: Yes Display Question Number :

(id), (iii), (1), (iv)

(iw), (1), (iii), (1)

(1ii), (1), (ii), (iv)

(1), (i), (iii), (iv)

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

‘Black September’ is related with which one of the following ?

Options:

H1334535873.

91334535874,

91334535875,

B1334535876.

Israel’s offensive against Egypt in the Arab-Israel War of 1967

Israel’s counter offensive against Egyptian forces during the
Yom Kippur War

Palestinian terror activities in Jordan and resultant clashes

Syrian attack on Israeli defence forces during the Yom Kippur War

Yes



Question Number : 119 Question Id : 9139439129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘e faarar Freafafiaa & o feod gafia 2 2
Options:

1967 % sa-gataa 4¢ # fre W gorra o1 gHen
91394335873,

91394335874, At forg 3¢ % < fr ot 31 R g -

e A feferedtt ammaeht nfafafirat s g9 sfomreasy wgd
91394335875,

T % I FoCaE T "at 9 Hifen
91394335876 g ga ¥ am e e

Question Number : 120 Question Id : 9139439130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following has been described as a ‘Rainbow Nation’ ?

Options:

91394335877, Sudan

Uganda
913342535878,

91394335879, Lanzania

91394335850, South Africa

Question Number : 120 Question Id : 9139439130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafafas 4 @ fra souae g’ (et @) sar T R 2

Options:

91334535877,

B1334535878.

21594235879,



gféor sk
91394335880,

Question Number : 121 Question Id : 9139439131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ‘Blue Revolution’ is a term often used to refer to

Options:

Tunisian Movement for democracy
91394335881,

Kuwaiti women’'s struggle for suffrage
91394235882,

Daughters of Nile's struggle for equali
21394235883, & 88 equatity

Syrian les struggle for democra:
21394255884, y peop 88 ¥

Question Number : 121 Question Id : 9139439131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

<freft wifa’ w7 %1 @ 9 foraes fou e ST 2 7

Options:
91394335881 e -

rarfesn % fow Faa 6t afgensdt w1 dod
91394335882,

guTaT #q e 751 i sfeat g g
41394335883

drshad * fere =ifen = <rm =1 g
41394335884,

Question Number : 122 Question Id : 9139439132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Abuja Treaty (1991) resulted in the formation of which one of the following
organizations ?

Options:
Gulf Co-operation Council
91594335555,

African Economic Community
91394335856,



91394335887 African Central Bank

African Monetary Union
913294235588,

Question Number : 122 Question Id : 9139439132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHean TfY (1991) % sfomwasy Frafafias great & @ g wmeT 1 e gen 2
Options:

ardt wegm ufewg

9153394235885,

R anfifs aggm
91394335286,

FETR S o
91394335887

bR i |@g
91394335888,

Question Number : 123 Question Id : 9139439133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The South Asian Growth Quadrangle (SAGE)) mooted in 1996 consists of which one of the
four countries given below ? Identify the correct answer.

Options:

India, Nepal, Pakistan and Sri Lanka
Q1294335859

Nepal, Bhutan, Pakistan and India
Q129423255890

Sri Lanka, Nepal, Bangladesh and Bhutan
Q1594235891

India, Nepal, Bhutan and Bangladesh
Q1594335892

Question Number : 123 Question Id : 9139439133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

af 1996 # ==t # 2w g wfirnd oy wads (woush,) # = fow o wn g A & FEa
aferfed 2 2 adt 3ot & Fafon $ifag |

Options:



YT, 49T, Urfereare 3T ot e

91394335889,
AT, MM, TfeRea 3 a
91394335890,
#ft weht, JaTel, aitee 7 YEH
91394335891,
91394335892,

Question Number : 124 Question 1d : 9139439134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“India : A Nation in Turmoil” was authored by one of the following authors. Find the correct
ATISWET.

Options:

R. Gopal Krishna
913943358493,

Lach Abuza
913942355894, ary

91394335895, OG- Roberts

91394335806, Collin Mason

Question Number : 124 Question Id : 9139439134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa dast & @ e “Sfean - v Awm 3 eufsa” T geas fodt 2 2 ot o e Hifsrg
Options:

FM. TITE Fo0m
91394335893,

TR ST
912334535894,

ER MR

91334535835,

913345358396, e

Question Number : 125 Question Id : 9139439135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which one of the following Southeast Asian Countries has challenged China of its sovereign
claims of South China Sea at the Permanent Court of Arbitration (PCA) ?

Options:
91394335897, ©ctnam
Taiwan
Q1=5942358598.
Malaysia
Q1294335899
The Philippines
Q1=294=2=E9300,

Question Number : 125 Question Id : 9139439135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefeafiga o & form ue gféror ooff ufim 3 3 wurht gorya =maeE (@)  gfio i g
T % ey g w A R 2

Options:

91394335537, ferrem
91394335598, e
91394335599, s
91334335900, Fefera

Question Number : 126 Question Id : 9139439136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Regional Comprehensive Economic Partnership and Trans-Pacific Partnership (TPP)
were chiefly established to achieve one of the following objectives. Find out the correct
aAnswer.

Options:
To promote the security scenario in the Asia-Pacific
Q1394235901
To realise trade liberalisation and economic integration in
Asia-Pacifi
91394335002 o0 Ace

91394335303, To counter China



To promote the US strategic interests
91394335904,

Question Number : 126 Question Id : 9139439136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394335901 s # e wfgra Hi wgrEn o § for

91394335902, - # SATI Serdiener aut s whr afhe w9 fer

i =1 " i o T
91394335303,
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2915334235304,

Question Number : 127 Question Id : 9139439137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When was East Timor occupied by Indonesia by force ?

Options:

91334535305, 1948

H13345358086, 1965

91334535907, 1976

9133453353908, 1989

Question Number : 127 Question Id : 9139439137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt feri ot geifivn 3 aerqde nfeaer e w91 2
Options:
91394335905, 048

913345353906, 1965



2912334535907, 1976

913345353908, 1989

Question Number : 128 Question Id : 9139439138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List I (Authors) with List I (Books) and identify correct answer with help of codes
given below :

List I List IT
(Author) (Book)
(a) D.R. Sardesai (i) History of the British Residency in Burma
(b) B.S.N. Murti (ii) Annexation of Upper Burma
(c) D.P. Singhal (iii) British Trade and Expansion in Southeast Asia
(d) W.S. Desai (iv) Anglo-French Relations
Code:
Options:
(a)—(iii), (b)—(iv), (i), (d)—(i)
91594335909,
(a)—(i), (b)—iii), (e)(ii), (d)iv)
91394235910,
(a)—(ii), (b)—iv), (e)-(1), (d)—(iii)
91394235911,
(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
915943354912

Question Number : 128 Question Id : 9139439138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(vrE) (geae)

(a) S, weag () feedt arfw g ffew She=ht 37 s

(b) dumw, qff (i) seEEYE 9% 7 awi

() Et.eft, fowe (iii) ferfemr 22 vz wamdym 3 wravdee ofimn

(d) S Ud. TEE  (iv) Uet-S frern

®e:
Options:

(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
91594235909,



(a)—(i), (b)—iii), (e)—(ii), (d)—(iv)
91394335910,

(a)ii), (b)—iv), (e)—i), (d)—1ii)
91394335911,

(a)iv), (b)—(ii), (e)—(iil), (d)—(1)
91334535912,

Question Number : 129 Question Id : 9139439139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Nawapon’ ‘Red Gaurs’ emerged in Thailand after 1975 elections. What was their objective ?

Options:

To su rt the Kin
91394235913, PRo 8

To support the milit
Q1394225914 Ppo ary

To su rt communists
913942354915, Ppo

To save the nation, religion and King
913343359316,

Question Number : 129 Question 1d : 9139439139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT3AS # 1975 % TGl & TvEr, FauT o id’ 1 wgiia g | IR IevE 41 41 ?

Options:

T i Gae 2
91394335913,

291594235914, 1 3

91334535915, T

g, gt ik T < 1E
91394335916,

Question Number : 130 Question 1d : 9139439140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Minicoy’ island dispute is between which of the two countries given below 7 Identify the
correct answer.

Options:



India and Pakistan

215394235917,
41394335918, India and Maldives
India and Bangladesh
91394335919
India and Nepal
215394235920,

Question Number : 130 Question Id : 9139439140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiga for <t 2 & ot “Fafeeria’ g &1 faarg & 2 adt soe o Ffon fifsm |

Options:

H91334535917. I 3R

a3 AredE
91394335918,

WA AR S
91394335919,

B1334535920. I 3R

Question Number : 131 Question Id : 9139439141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When did India become a summit partner of the Association of Southeast Asian Nations
(ASEAN) ?

Options:

21594235921, 1992

.
91394335920 1995

91334535923, 2002

_
91394335924, 2000

Question Number : 131 Question Id : 9139439141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334535921, 1992

215394235922, 1995

B1334535923. 2002

91334535924, 2005

Question Number : 132 Question 1d : 9139439142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In 2003, India acceded to an important fundamental principle on which ASEAN was formed
initially. Identify the correct answer.
Options:

41394335905, ASEAN-India Joint Declaration to combat international terrorism

Framework Agreement on comprehensive economic cooperation
91394235926, P pe

Agreement on India-ASEAN ership for peace, g8 and shared ri
91394335927 partnerahip for peace, progre: prosperity

Treaty of Amity and Cooperation
Q1=2942=5928, W W pe

Question Number : 132 Question Id : 9139439142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394335925, 4T % e T g e

21594235926, A HHam A

iifa, swrfer sfit amsh oafy % fo yra-ufiem wefterd gashtar
91394335927.



B1334535928. Pt ot e i

Question Number : 133 Question Id : 9139439143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
900-year-old Preah Vihear Temple is dedicated to which one of the gods mentioned below 7
Options:

91394335929, -nIva

91394335930, " ehnu

91394335931 Cuddha

91394335932, orabma

Question Number : 133 Question Id : 9139439143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
900 =¥ wr=ft= g faen uft Frafefas © @ fra dvau =t auffa 2 2

Options:

91334535929, A

fere

B91334535920.

91334535921,

91334535932,

Question Number : 134 Question Id : 9139439144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following South Asian countries has leased its port to China for 99 years ?
Options:
Nepal
91394335935,

91394335934, o0 Lanka



91394335935, | ALstan

Bangladesh
H1334535936.

Question Number : 134 Question Id : 9139439144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prerferfiaa frm gféror ufirs 3o 3 s aqume 99 ot % fo <= it vge w g & 2

Options:

913345355923,

H91334535924. Hew

2915334235955,

AT

21594235956,

Question Number : 135 Question Id : 9139439145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the leader who established People’s Army in Vietnam and victoriously fought
against the French and the Americans.

Options:

91394335957, 1o Chi Minh

91394335935, © Puan

Vo Nguyen Gia;
Q1394235939 guy P

Truong Chinh
291334235340,

Question Number : 135 Question Id : 9139439145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



w fa fire

H1334535937.

& T
91394335938,

at T3 5

21594235959,

gaii forg
91394335940,

Question Number : 136 Question Id : 9139439146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name two main claimants challenging the Chinese claim of sovereignty over the entire
South China Sea.
Options:

The Philippines and Indonesia
91334335941,

Taiwan and Malaysia
913324535342,

Vietnam and The Philippines
91394335943,

91394335944 Vietnam and Cambodia

Question Number : 136 Question Id : 9139439146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

feferd=a +fit s=srfirn
941394335941,

drgar 3 gty
913943353942,

91334535943, 3

91334535944, 3

Question Number : 137 Question Id : 9139439147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which section of the population of China protested against government at ‘Tiananmen
Square seeking democratic rights ?

Options:

91394335945, Students

91394335946, Dissident leaders

91394335947, | casants

91394335945, ‘rmed forces

Question Number : 137 Question Id : 9139439147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334535945,

91334535946,

91334535947,

91334535948, bl

Question Number : 138 Question Id : 9139439148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the Southeast Asian countries hosted an international conference to resclve
the ‘Cambodian problem’ in the post Vietnam occupation of the country ?

Options:
Singapore
291394235949, gapo

91394335950, hailand

The Philippines
91394235951,

91394335950 Lmdonesia



Question Number : 138 Question Id : 9139439148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

formr & & form gfior gt of¥md 3 3 farraam gro Fifen #t s anfime 3 & % wwEm,
‘Frtfem 6t awen gasm & ot sratsdt oetem i deardt i oft 2

Options:

g

21594235949,

H1334535950.

291594235951,

FreHTmE

H1334535952.

Question Number : 139 Question Id : 9139439149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the leaders proposed the division of Vietnam at the International Conference
at Geneva in 1954 ?

Options:

51394335953, John Foster Dulles

Anthony Eden
91394235954,

Vyacheslav Molotov
215394235955,

91394335956, Cpau-En-Lai

Question Number : 139 Question 1d : 9139439149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

for e 3 o 1954 § S % sraiedta wee o fagaam & fawrem 1 weara fear a2
Options:

91334535953, s

T 339

2915394235954,



9153394235955,

=E-TH-
91394335956 S

Question Number : 140 Question 1d : 9139439150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct code for Assertion (A) and Reason (R) az given below.

Assertion (A) : India-Myanmar relations have been rooted in shared historical, cultural and
religious ties.

Reason (R): India-Myanmar share a long land border and a maritime boundary in the
Bay of Bengal. A large population of Indian origin live in Myanmar.

Code:
Options:

(A) is correct but (R) iz not correct
912942354957,

(A) is not correct but (R) is correct
Q1394335958

Both (A) and (R) are correct
Q1=294=2=E959,

Both (A) and (R) are not correct
Q13943235960

Question Number : 140 Question Id : 9139439150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) , fe (R)
91394335957, @R wh R

(A) , wfe (R)
Q1=394=2=5495E, H-E‘ﬁ:@% mﬁ%

A) # (R
91394335959, @ 3 (R) 3 7 &



(A) 3T (R
91394335960, } ) T e 7

Question Number : 141 Question Id : 9139439151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
At which parallel was Korea divided into North and South 7

Options:

36" parallel
91394335961

38" parallel
91394335962,

40" parallel
91394335963,

41" parallel
91394335964,

Question Number : 141 Question Id : 9139439151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ifen =it fora gata (rersr) W 3w 9 gt & o fpmmn 2 2
Options:

913345335961, 364

91334535962, 383

91334535963, 40

91334535964, 419

Question Number : 142 Question 1d : 9139439152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the Southeast Asian countries came under the control of the United States
from Spain ?

Options:

9139433595, Lndonesia



91394335066, Cambodia

91394335967, CUrma

The Philippines
91334335968,

Question Number : 142 Question Id : 9139439152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prferfiaa & & St gfaorgd ofiem 3o 29 % P @ Freas g o7 e & oflT amn 2
Options:
91394335965, FeHRM
91394335966,
91294335967,

21594235965,

Question Number : 143 Question Id : 9139439153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who was the first civilian ruler of the United States in The Philippines ?

Options:

91394335969, lcArthur

91394335970, " iliam H. Taft

91394335971, ark Twain

Henry Cabot Lodge
21394235972,

Question Number : 143 Question Id : 9139439153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefidt=m & g9 =g smfen &1 ggen sr@fs o w91 2

Options:



91394335969,
fafem ve.
913943354970,
qrh
91394335971, 5
ShAle i
91394335972, bl

Question Number : 144 Question Id : 9139439154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Of all the Kings of Thailand, which one of them is considered as an enlightened ruler ?

Options:

Rama Khamhaeng
91334335973,

91394335974, TaLoK

Mongkut
91334335975,

Chulalongkorn
9132453359376,

Question Number : 144 Question Id : 9139439154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

urgete % ot owrel # o form a6t wag e W S 8 2
Options:

T FHE

91334535973,

912334535974,

91334535975,

JEATARTRA

B1334535976.

Question Number : 145 Question Id : 9139439155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“The Vietnamese are indeed not reliable people. An occupation does not last very long
before they raise arms against us and expel us from their country. The history of past
dynasties has proved this fact.” Who gave this statement ?

Options:

Chinese Emperor Ch'ien-lung
91394335977,

Admiral Marie-Jules Dupré
91394235978,

De Lagrée-Garnier
Q13943235979

Chiang Kai-shek
291334235380.

Question Number : 145 Question Id : 9139439155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Sub-Section Number: 2
Sub-Section 1d: 913943456
Question Shuffling Allowed : Yes

Question Id : 9139439156 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Read the passage given below and answer the questions based on it.

Az with many great figures of history, the facts of Confuciusg’ life are unclear.
However, if the scholar-teacher lived today he would probably have been considered a
dangerous radical, because of his basic admonition that the welfare of the people was more
important than the privileges of a ruling class. The rulers of the small State of Lu, in which
he lived, disliked such ideas, nor could Confucius, during many years of wandering,
persuade any other leader to accept them. He insisted on his students studying poetry,
music and history to broaden their minds, a tradition continued almost into modern times in
the great Chinese civil service, the mandarinate. The fact that he was a dissenter, yet was
held in reverence by his students, indicates that he was probably a man of considerable
personal force of character, with an innovative, revolutionary mind.

It is ironical that later Chinese Confucianism was anything but these things. Of its
enormous body of writing, remarkably little came from Confucius himself. Confucianism, so
long the ethical system guiding China, was developed in the work and thought of a mass of
subsequent commentators.

Mencius, who was active during the first quarter of the fourth century BC, was such a
commentator. His view was based on faith in the ultimate goodness of human nature. To
him is attributed a practical Chinese political device of some importance the ‘Mandate of
Heaven’ concept although there are hints of its development much earlier. This idea is one
of qualification of the absolute power of the ruler. It is regarded as morally justifiable, even
laudable, to revolt against a cruel, unjust, or even unlucky regime. In other words, a
government is finally justified by its success, its ability to maintain a reasonably prosperous
and equable society; an emperor by his probity, his high moral character, since only such a
man would be able to intercede with the forces of Heaven to ensure prosperity.

Sub questions

Question Number : 146 Question Id : 9139439157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What did Confucius share with many great figures of history ?

Options:
91394335ggy T acts of his life were unclear
He was notoriously famous
913943359582,
91394335053, ¢ Wasin oblivien
He was very much detested
91394335934,

Question Number : 147 Question Id : 9139439158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What was the basic admonition of Confucius ?
Options:

Rulers are omnipotent
21594235985,



Rulers are dangerous

Q1594235956
Welfare of the le was more important than the privilege of a ruling class
Q1594235957 peop po P 8 8
People are unimportant
Q1294335955

Question Number : 148 Question Id : 9139439159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Where did Confucius live ?

Options:
Beijing
91394335989,
91394335990, Lunnan
Kashgar
913943235991
91394335992 %

Question Number : 149 Question Id : 9139439160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was Mencius ?

Options:

A Japanese scholar
91394335993,
91394335994, An inhabitant of mainland China
91394335995, <+ Uhinese cvil servant
9139433599, *»commentator on Confucianism

Question Number : 150 Question Id : 9139439161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How is the absolute power of a ruler justified ?

Options:



By his probity and high moral character to ensure success
91394335997,

By his cruelness
91394235998,

By Mandate of Heaven
215394235999,

By his welfare measures
291334236000,

Question Id : 9139439156 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 9139439157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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